8 om0 B BEDBemce )
D103 5TO W )2 DBIWIS WED IS VAW By DBV 2014
@D ®IOOD - gdw vlFuens -2014

YB® w0120 W 288 Bex00 - MCC 1103

R : v e (02)8.

»w :2014.12.14 @dE®: ©3.0.10.00 - @dxsden 12.00

cuvedcd :

A 0220835 yad» e¢mmOss (02) B 0200857 yads ecmmost (02) 881 suasis.
2 @200 8183 BB Es edI®EsTesT 5HO® 3.
028 928 @2»0wd @Dy eDBIO BERd wuwr 0DsY edID gfemr Dd e¢sinm.
BEFOIC @INE BBBY) C1ED.
D030V ST OB HE ©NWVAD eaa%m @53B) Wdm WmE WB .
Bwod® yadm wew 8 CR| CED.
A @200

(8) “edsd Bun® piSm 8e0ed ¥erm® s BEHY CAB.” B Omw DxverIe?

1088 mOsTD. - (cme 10)
(30) ocImoed d5%® wbSmw D8xsY Yy @¢x §E®PEED y@» @ Dag?
: (e 07)
() BEoem 018w &8O O doFvens 113827 vun Wednm WO dEnd
DOBIB).
- @R 8gDsIvN § D5 ED® (e 04)
- O wredlw Beviemw BBe® mfsamed BdDrion § 0D Ed®
(e 04)
(82 cae 25)
(@) O TAIS) PCCO® emed ACHID 00D e®rdag? (cne 07)
(@9) Ce0wsy 0wt BB 5188 WIsT®.
- 2Ce® o%e (c=m 006)

- CCe® 0D Ed® (cme 06)



(a®)

(90)

()

(a®)

(30)

2C GO wv Beyd ddoCsmn wudst vud vewsy Wi 510188 wovIw.

ym w8 edeguEm Y e e®imdac?

0w B85Y & 0mdet eemr ewewId Bwmmddwunt Gad & e, & nEsY B

eDegesE 0medd $1BDD DEL:®.

(cmen 03)

B D000 egwo g0 WO ©wid® O¢ 8¢ v omel a». & nEsY

eDegesE emedd #BOD DEL:®

(cme 03)
(80 e 25)

(cme 03)

“gbe »5wmd edegeueEm Bwisi®m O P> 8E ©0 om @A, (Price

taller)” @@ o Dsfesie? 518 woxts.

(c=em 08)

I@08 edegeu Ppund 88s5Y ©wernsTsn 8E 5005 BHOHmS »®
51188 oI,

B e%00¢es

BesesIn.

®
(i)

(iii)

B B0 8®mS wdmie Swestn.

10x +2 = 3(x —5)

2x—-3y=5

x+y=2

(cme 12)
(8® ey 25)

(cmen 04)

(cmem 04)

(cnem 04)

(cae 05)



()

(@)

(30)

(g0

(€]

x=2, y=30v =150, suvn ¢edn ymaned gow etmemin. (R 04)

4x* +5y* +z* -10
(y-4)>+z

g0c dyoed wewd¢dwd Dib 38 15 = 0188w, »d dwd 10 B, a0
Rned Bendedwid Db ey O1BvE®w. 30Fed ¢of Drw ems®enc?
(c=mea 04)
(80 caaw 25)

‘Bo0nemn' s ‘Buile' vm 0wg® ggy cowies gudst 1wlE mosTD.

(cmem 05)
‘Dymm e’ w0 ‘B ¢¥n' wsiemd ednrw emSewsy @B mIsTH.

(c=e 04)
odegesc udvmusiod & wdm Om ¢in dfded BBe® mn® 4 = wewsy »J,

J0 Oz OB Di8w w1 gD8w OB wewsy T, (= 06)

s9D ez Bwided® 1n® endes ¥ Dl g8 8BmD Bedmd mSsTH.

() wdc gul Begs (cne 05)
(ii) eImam B8 . (cme 05)
(8° e 25)

BHD D BOND) BEWBIB.

eectm Oyen® (6;.”000) » v
20 80 30 ¢zt 14
30 80 40 ¢xfo0 20
40 80 50 ¢ 24
50 80 60 ¢=oo 15
60 80 70 ¢z 7

OO 80



()

s89D s Do gesImy. (@wm ¢n wewo)

) e e8d
(il)  e-0wom DY YW
(i) Oa¥m DR 3OV

Qwn ¢ 418y vun EFeds Sa® W WEBIB.

) ®Qw1BNSG
() oasdos

(i) ©mwa

B3O 188k -

(cne 05)
(e 03)
(e 08)

(cmen 03)
(cme| 03)
(cme 03)
(80 caaw 25)



THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN ENTREPRENEURSHIP AND SMALL BUSINESS MANAGEMENT
PROGRAMME - LEVEL 02

FINAL EXAMINATION - 2014

MCC1103 — BASIS STATISTICS AND ECONOMICS
DURATION - TWO (02) HOURS

DATE: 14.12.2014 TIME : 10.00 a.m. - 12.00 Noon.

Instructions f

1. Answer Two (2) questions from PART "A’ and TWO (2) questions from PART "B’.

2. It is advisable to spend one hour for each part. '

3. Provide answers for each part separately in separate answer books and hand over them
separately.

4. Graph papers will be provide.

5. Non programmable calculators are allowed.
6. All questions carry equal marks.
Part A
1. (a) “Scarcity of resources is considered, as the basis of economics”
Do you agree ? explain. (10 Marks)

(b) What are the fundamental economic problems faced by any economy of the world ?

(07 Marks)
(©) Explain the following by using production possibility curve analysis ?

- Change in resource availability. (04 Marks)
- Technological break-through in the production of one good.
(04 Marks)
(Total 25 Marks)
2. (a) What are the factors that affect the demand of a product. (07 marks)
(b)  Explain using illustration.
- Law of demand (06 Marks)
- Change in demand (06 Marks)



(©)

(2)
(b)

(©)

Explain the following by using demand and supply analysis.

- Government has provided fertilizer subsidy for paddy farmers: market for

paddy. (03 Marks)
- Price of inputs needed to produce paddy has gone up; market for paddy.
(03 Marks)

(Total 25 Marks)

What are the main characteristics of a perfectly competitive market. (05 Marks)

v
v

“Firms that operate in a perfectly competitive market are price takers”. Do you
agree ? Explain. (08 Marks)

Explain the non price competitive methods used by the firms that operate in a

monopolistically competitive market. (12 Marks)
(Total 25 Marks)
Part B

(@) Solve the following equations:

)

(i)

(iii)

(b)

(©)

(d

10x+2=3(x-5) (04 Marks)

3x

X
——-=3 (04 Marks)
11 4

x—1

3
e 3 (04 Marks)

Solve the following simultaneous equations: (05 Marks)

2x-3v =5
x +y =2
If x = 2,y = 3 and z = 1, then find the value of the following expression.

4x*+5y%+2z*-10
(y—-4)2+z

(04 Marks)

Amal is elder to his brother by 15 years. It is observed that 10 years later, Amal is
as twice as elder to his brother. What is Amal’s current age? (04 Marks)
' (Total 25 Marks)



@
(b)
©

(d

Explain the terms ‘population’ and ‘sample’ with suitable examples.

(05 Ma

Briefly explain the difference between ‘discrete’ and ‘continuous’ data. (04 Marks

With one advantage and one disadvantage, state four data collection techniques

used in market surveys.

Describe the following sampling methods

disadvantages. Give suitable examples.

(i) Simple Random Sampling

(i1) Stratified Sampling

Consider the following set of data.

Daily sales (Rs ‘000s) | Number of days
20 upto 30 14
30 upto 40 20
40 upto 50 24
50 upto 60 15
60 upto 70 7
Total 80
(@)

(b)

Draw the following graphs for the above data.

(i) Histogram

(i)  Frequency Polygon

(i)  Pie Chart

Find the following:
@) Mean
(ii) Median
(i)  Mode

- Copy Right Reserved -

with their advantages

(06 Marks)

and

(05 Marks)
(05 Marks)

(Total 25 Marks)

(05 Marks)
(03 Marks)
(08 Marks)

(03 Marks)
(03 Marks)
(03 Marks)
(Total 25 marks)




BeUEINS HBHS LILSHMEVEHSHIDLD

- QarPeflenodsiauupn, ABiw elwrury (psTmSHSHIIIPD FTTSLD
BaDFHSH S LD

wlL 02 - @Al uflens — 2014

sigliuent.  Ysitefalugellwesvid, Gur@gefwsud - MCC1103

smevld: @emi® (02) Loewullg SHUITEOmISENT

Had: 14.12.2014 Gmyw: 10.00 (wp.u — 12.00 wWHWID
SIS S60E6NT:
I ugsl ‘o’ olalwps @rei@ (02) allamésersésw, uagsl ‘<’ olelwps Gyai® (02)

NS HEpSEGL0 WL 6TIPSHIS.

. QOUGUTIE LGHEGLD @@ S HILITeVSHMmS GlFevall 60 FpbsSs.

3. @ouCleur s LGHEGLmeT flenlimer Hefigsefl eflenL LiSSSEISe) 611pH Coumrs
DB UIGTIS B 6)LD

. 6UDTOYSBTETBET UPHBIBLILIBLD

. BIBIPFFUNIBSHBUIITS 616007 Fnl  (BLIGLITIISETT LITCUDET S DILDSIHBLILIL (HOTONIS/.

. 6T6V6VT MM GHGHLD FLo LjeTToiBemensds Gl Teoor(BerTeNea.

N

A LA

1. a. “apevesnmiseiiesn SimenwolLT®h, OQurmefiwelsn Sigliient GQwiend  SHSUILIGSTBSH!.
oo gBpie Cemsalemyn? ellanb@s. (10 yeierilseir)

b. o evdlet  ewauBueEnId  QUIBHEMTHTHHeMTed  (WPHD  CBETEHSULGLD  DigliienL
Qurmefiwed UyFflenendet wWreneu? (07 yeiterileeir)

c. UsiaumuenmauBens 2 BusHs GQuisvsde| euemenul  u@ULUTUImeNs (production

possibility curve analysis) Qasremi® elend @as.:

- SLsHUGUEBID cpeveleTRIG 66T LOTHBBLD (04 yeiterilabeiT)
- QurmGenmeimilen 2 _mubHuied GemPsd mILus sSemBLlgly (04 yeiteriisein)

(QuomH B 25 Li6iTerNEB6IT)
2. a. 2 _pusdl Qurmeflsit Gseellenwill LTHSGW STFewlE6T WITen6u? (07 yeirerassit)
b. euenrULhisemend QETewih elend@Es.

- Gemeitall aig) (06 yeieriiaeir)
Caxeited  LOTBBLD (06 yeiteriiameiT)



Caeitall, alBCWTEL UGUUTUIEN6IES Qasrms&r@ WesteumLItTeuBenm  6X6T185 @5 .

- eleusruisEndd SIJ FMTRISHSGNTEV LIuleneT QUPMISLILI(BSI6TBSHI:
OBeLeVBEBTE FHeNSH (03 yeiterfisiT)
- Oped 2 BUSHHBGHH CoHmeuwmen o seiefhseicn alenev  F\HIfbSHBSHI:
OBsveIBETEN FHend (03 yeiterfaeit)

(CureHsd 25 yesielssin)

Beop Cumlipsd Fhensulle FHTer LRILIGST WTeneu? (05 yeiterfseiT)
“Blenm Gum_igF Fhenguilev GFweormmILD 1B 13162601 61T NlenEVEMaTS
sioneflsalsmer”. Qaemen gbmis Carendlansym? allens@s.

(08 Lyeiterliepe6iT)
sefiflemwots  Gumligsy  Fhewspuled  GQFweorBE@Id  BmeueTRIGsT  UWETLGHSHID
ellemsowlsvsorl Gumily (penmenLBHem6N 66T ES.

(12 ysitefaein)

(Quorgsb 25 Usitefaei)

LGS ‘<’

Uelteumld FLoeUTBEm6Nd i EHS.

i. 10x +2=3(x—5) (04 Lysiterasein)
3x X »

il. Z_l- - ;‘ =3 (04 yeiterfilaer)
x—1 3

iii. ;g = z (04 eiterfieeir)

Ueiieumld BRISm FORIUTHHM6NSH HibEHd.

2x-3y =5
x+y =2
(05 eiterMa6iT)
x=2,v=3,z=1gula Ueeumusieubler QUBIOSH DS BHTewsH.
4x245y3+z%-10
(04 yeiterMam6iT)

(y-4)%+z

ey HaH FCaTHImeanalLabd 15 euBLEIEST cpdhiHeui. 10 eumLhibelen 61, Sioed

HENGH] FCarHyeneu allL_6ib am DL B eUWIGI6TT6TNT TS IHLILITT 6161

SuSHTNSESULULLS. Siwedel HBCUTMHW auuwisl wing? (04 yeiterfaeit)
' (Quorisd 25 Leielse)

2



[13 %

Gl9”, “LrFNOWBHSH0” pdwaBmBsd SSHHS UMILLRIGEHL 6T 6llendEs.
(05 ysirelassir)
. “elugworm” wBgd  ‘CHTLiuTer’ HIe|sendalenL Gwiulsion Coubpienosemen  &ihoHHI0NS
o611 @ &. (04 yeirerfismeir)
. FHMSH eyseilsd LWETLUGSHSILBL BTei@ Hre) CFafli] BHILUBISMmET, SineIseTer
Q0 SIMFVSHIL@ID, @ LFHamesaHi@id GBIUIIGE. (06 LysiTeriiB6IT)
. Ueitaumd  wr@AOWLGHSH0 IPEDBMDEMET  SDEUSH6TET  DEITnEMIBET, LY Hlane0midbelt
BBl el ealuflees. HSSHSH 2 HTJIhIBDTSH HHE.
1. el erapomBEl THFOLGSHSH0 (05 yeiteMa6iT)
ii. uenL(emm  orSHFGWGLIL (05 UeiterMa6T)
(Quresd 25 Leerilesir)

LeTeubD  HT6YHen6TH &@551@6\)@&5&,6)@

BIeNTHS eNBUmeEsT (Hur. ‘000ssfer) | BTLS6M6T sraianidama
20 @b 30 14
30 SmHas 40 20
40 eSimbBSHI SO 24
50 eS\mibaH 60 15
60 ef\mbaE 70 ' 7
QLTSS 80

a. eiieuGlD HIoYSEHHE 6UeMJL| LLKIGEMET 6UED]JH.

i. Bemip aUMIUID (05 ypiterlameiT)
il. Bigmest LsLBSTew (03 yeiteflemeir)
iii. uflg) euemyL (08 Lysiterilaeir)

b. LeaimUaaIBenBE SHT6IS.

i. SemL_ (03 ypiterilaeiT)
ii. @emL_LILD (03 yeierlae6iT)
iil. SLBMID (03 yeierfae6ir)

(Qrshsd 25 - LsieflssiT)

(UALLAEPIOWLLIZ)



